FALAKATA COLLEGE
'B.A.-2nd Year Test Examination 2018
Subject - Economics (General)
Full Marks - 50 ; Time - 2 hrs.
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FALAKATA COLLEGE
- B.A.-Part-III Test Examination 2018
Subject - Economics (General)
Full Marks - 50 Time - 2 hrs..
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a)
c)
d)
e)
g)

h)

il

Answer any five Question : 5x2=10

What do you mean by Human Development Index (HDI ?
How do you define dual economy ? '

Who are the member countries of OPEC ?

What is capital-intensive technique of production ?

What is an 'attribute’ ?

Define frequency density ?

Find the median of the following data :

22,7,14,10,18

How can you write the relation among AM, GM and HM ?
Answer any two gquestions : 2x10=20
Explain the arguments for and against economic planning.
Explain the concepts of HDI, GDI, GEM and HPIL.

What is primary data ? Describe the various methods of collecting
primary data. 2+8=10

Find the A.M. of the following frequency distribution -

Weekly income (t ) |20-25 |25-30 | 30-35 35-40 | 40-45 | 45-55

No. of Workers 200 | 700 | 900 | 800 | 600 | 400

Ans any one question : 1x20=20

.. What are the different forms of Foreign Capital ? Discuss the role

of foreign capital in the development of the developing countries.

6+14
a) Distinguish between balanced and unbalanced growth.
b) Explain critically the theory of balanced growth. 8+12
a) Find the median from the following distribution :
Class 30-35[35-40 [40-45|45-50{50-5555-60

Frequency 8 12 10 8 12 | 10

b) Find the SD from the following data :

Class 20-24 |25-29 | 30-34 | 35-39

Frequency | 16 28 14 12




